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QUESTION 1

In MSTP, which two factors determine the root bridge in each region? (Choose two.) 

A. The switch with the higher priority becomes the root bridge. 

B. The switch with the lower priority becomes the root bridge. 

C. The switch with the lower MAC address becomes the root bridge when priorities are tied. 

D. The switch with the higher MAC address becomes the root bridge when priorities are tied. 

Correct Answer: BC 

 

QUESTION 2

Referring to the exhibit, R2 is exporting the route for server1 as a Type 2 external route and R6 is exporting the route for
server 1 as a type 1 external route in OSPF. Which path is taken to reach server-1 from user1? 

A. R1>R3>R6 

B. R1>R2 

C. R1>R4>R6 

D. R1>R2>R4>R6 

Correct Answer: D 
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QUESTION 3

Which option is a valid IPv6 multicast address? 

A. fe80::205:8640:471:3200/64 

B. ::172.16.0.5/126 

C. ff03:365:ba::23 

D. ff01:cgfc:345::226:8ff:fee4:bf6f 

Correct Answer: C 

 

QUESTION 4

A non-802.1X printer is connected to ge-0/0/0 on an EX Series switch. 

Which configuration statement will authenticate the device against an authentication server? 

A. set protocols dot1x authenticator static 22:22:22:22:22:22 interface ge-0/0/0 

B. set protocols dot1x authenticator interface ge-0/0/0 supplicant single 

C. set protocols dot1x authenticator interface ge-0/0/0 mac-radius restrict 

D. set protocols dot1x authenticator interface ge-0/0/0 disable 

Correct Answer: C 

 

QUESTION 5

You are asked to implement CoS on an EX Series switch. You attempt to configure the priority for the voice and data
queue schedulers to medium-high and medium-low priority, respectively. However, you notice that the only parameters
available for the priority is strict high and low. 

Why are strict high and low the only available parameters for configuration? 

A. The loss priority for the queues must first be set to medium-low and medium-high, respectively. 

B. The switch only supports the strict high and low queue priorities. 

C. The shared buffer feature must be configured prior to configuring scheduler priority. 

D. The scheduler must be applied to an interface prior to configuring scheduler priority. 

Correct Answer: B 
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